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P - II (1+1+1) G/20 (O)

2020

PHILOSOPHY (General)

Fifth Paper

(Western Logic)

[Old Syllabus]

Full Marks : 50 Time : Two Hours

The figures in the margin indicate full marks.

Section - I

Answer any one of the following : 20×1=20

1. What is a categorical syllogism? Describe the structure of a categorical syllogism.
Explicate the function of different terms of categorical syllogism. 4+10+6=20

2. (a) Translate the following arguments into standard forms and determine their validity
or invalidity with reference to syllogistic rules : 5×2=10

(i) EAE – Second figure

(ii) Dogs are mammals. Cats are not dogs. So cats are not mammals.

(b) Translate the following arguments into standard forms and determine their validity
or invalidity by means of Venn diagram : 5×2=10

(i) AEI – First figure

(ii) Plato is a Greek. He is a philosopher. Therefore some Greeks are
philosophers.

3. (a) Determine the validity or invalidity of the following argument forms by truth
table method : 5×2=10

(i)
 

p q
p p·q


 

(ii)  p q r
p ~ q

p r

 


 

(b) Use truth tables to determine the following statement forms as tautology, self-
contradictory or contingent : 5×2=10

(i)    p q p q q      

(ii)  p q p p     
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